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Section A(28 x 2 marks)

For each question from 1 to 28, four options are given. One of them Is the correct
answer. Make your cholce and shade the correct oval {1, 2, 3 or 4} on the Optical
Answer Sheet.

1.  Refer © the flowchart below. A, B, C and D represent different fving things.

Living Thing

Can it move from
place {o place on its
own?

Which of the following living things, A, B, C and D, do the mushroom and fem

represeni?
Mushroom Forn
(1) B ' C
 (2) A D
(3) D A
{4) c B

A-t
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Thes graph below shows the amount of food taken in by an organism dally et each
stegs of its e cycle. W, X, Y and Z represent difforent stages of its ife oycle.

Amount of food taken
hwmp

the iving thing

Based on the grapgh abowe, which of the following siatomeniis) is/are Incomect?

A Siape Y ia the pupsl siage of e organism.

- Al stage Z, the orgarism reproduces by giving birth,

¢ The organism rersalns in stage W ond stage X for the sanw amount of
e,

0 The organism goss througl: the same stages in s e cytle as the fmg.

(1} Aonly
@) = AsndD only
3) BondConly

#  B,GandDonly
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3.

Shudy the diagram of the frult P below,

soods

Basad on the diagram, what can be concludad about fruit P2

()
@)
3y
4

A Its flower is polfinated by wind.
B it is produced from many flowers.
c The avary of its flower contains many ovuies, ‘
D Afier fertiisation, the ovary of its flower swells and becomes the fleshy
fruit,
A and B only
A and C only
C and D only
A, B and D only
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4. The diagrams belaw show the plant and human reproductive systergs.

Which part of ihe human reproductive syslem has a simiar funcfion as part X7

1 A
2 B8
2 C
4 0
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swmdagmmdmmm.mambm-wmmmm

plant.

Which of tha following Ia another function of part (1?7

(1) liholds the plant upright.
(2) It photosynthesises to make food for the plant.
(3) |tinkes in carbon dinxide and releases oxygen.
(4)  lihelps the plant to take in water and minerals.

Four students made comparisons about fhe human circulatory system and the

plant transport systerm.
Student Comparigon statements
’ Human clreulatory system. ‘Plant transport system
Lara Transporis water, oxygen, Yransports water, carbon dioxide
carbon dioxide and digested food and food
Ming Transports food and water in Transports food and water in
ssparate blood vessols food and water-camying tubes
Olivia Transporis substances absorbed | Transports substances through
in the blood food and water-carrying tubes -
Panya Transporis water io the upper Transporis water to the upper
an lower body parts of the parts of the plant
human body B

Which studants magde the comrect comparison stataments?

- {1}  Lera and Ming only

(2)  Oiivia and Panya only

(3)  Ofivia, Lara and Ming only
(4)  Ofivia, Ming and Panya only

NG
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Study the diagram below. The () shows the movement of substence{s) in the
body.

3

- Bt kv ——— S brveser i i CE—Y - S—

What ig/arg the substenoo(s)?

{1)  Digested food only

{2) Digestind food and water only
{3) Digestad food and oxygon only
4)  Undigosied &od and water only

Kya attunded her swimming practice which lasted for 60 minutes. The graph below
shows hor heard rale during her practice.

Heart rate (bpm)
'Y

120

o

85 r

o
ssurnrwvisvenesnmsdon
Cl TSI PP S

AL L LT ]

6 15 80 45 e rme(me)

-MwmmmmbbdhhmngmmmmMcommW

Kyn's heart rate decraasad tha most after the 80 minuts.

Kya breathed in less axygen after the 60" minuto, _

Kya swam laps up und down the poul Fom Gwe 157 by 80™ minide
without taking a breaic.

Al the heart rate of 120 beats per minute (bpm), Kya's haart only
pumped biood rich in coygen around her body.

0 G

{1 AandBonly
{2) . Aand Donly
{3  8,Cand Donly
4 ABandDonly
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%mubdh&madﬁundummmn.wﬁmww
use arow and letters P, Q, R, S 1o represant the flow of hicod around the body.

She was given thess Information on P, Q, Rami 8.
s Blood st R contains mons carbon dioxida than the biodd at P.
+ Biood at S containg the least amount of carbon dicxide.
+ Biood at Q containg the most amount of carbon dicdde.

Which of the following graphs correclly shows the diagram Lidn has to draw?

) ( \ @
e —
Pl s PL 8
(
el ] af | ot g
Q iR o
Lomerz::d&n]} wogs |
(3 [mmdu\eJ @) ——-r — }_‘
QI '8 Ql s
[  heart P L lungs ) R
F. TR . otherpartsof |
(= s

AT
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10.  Wihich statement about celis Is tuo?

{1)  Cells can he seen with the naked gye.

4] Calls have fissd siructres and shapas.

{3y  Colis are unable to reproduce on thair own.

(4}  Cellaare abis 10 neact fo changes in the snvicorment.

11,  Studythe oell below.

Which paris of the cell are prasent in most animal celis?

{1) AandBonly
2) CandDonly
) B.CandDonly
{$) ABandDony

www.testpapersfree.com



12, James wants to findd out If the colour of light used will sffect the rate of
WM&-HGWMMMWMX as shown in the diagram
below. Each set-up was placed in a dark box with a difterent colowed light.

Which sef-up below should James use as 8 coniral set-up for his aexpesiment?

{1 (@)

)

A-9
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13.  Suria wanied o fird out how light affects gasacus exchange in the plants, She
wrapped two identica--eized leaves fram the same plant with different bage, A and
B. The plant was placed under sunlight for four howurs, as shown in the diagram
below,

. Aftew four hours, which option shows the most possible change in amount of gases in

Amountof oxygeninbag A Mofcxm-mhb-gn- 1
M| vemsinstwwems | decreese '
{2)  decrease - | - inorease

()] decressm 1 femansThesame .

i inciease 1 7 remains tha same

A-10
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14.  Study the ciassification chart below.

Matutisls
|
1 i
A 8
Rubber Plastic
Colton Metat

Which of the following sels of headings best represents A and B?

A B
M Not waterproof Waterproof
{2} Come from plants Come from materials from the ground
(3} Come from animals Come {rom plants

"{4) | Aflow masi light 1o pass through | Do not allow any light o pass through

15. Which of the foliowing options Is the cotrect way of conducting the stroking method
to magnetise the iron rod?

(1) magnet @

—>

magnet

A-11
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18.  Raina wanted o find cut the magnetic properties of bars, W, X, ¥ and Z. They
have ihe same massas. She hung some of the bare at position A while placing the
others ut B and observad the readings on the weighing scshe.

| PosiBion | Posiion | Reading on the |
T oA A | 0 | weighingacale
W X daoresses
) Y w “increaces
{— positionb z X Nﬂ'ﬂtﬂlﬂ‘lﬁ

| , -1 weighing
ST Y A scale

Based on the resuls of the experinant, what con Raina nbaerve after placing
bar W n 2 coniainer of stesl paper clips?

~
,4:—-~.'~1\. 1/.--'

'J.("" - «“_.-

-y Py
- .‘L' ‘_-;Lk R ) T
“-’-4("‘\- oS fl.-—-,_ - -..,

| b
g_‘ﬁ ‘5‘4,_1//,&.'-‘.-* vy .tl-. "‘.l
N e e M

(........_,
'_r‘r‘ -

o e,
o .‘f- = ‘,i /;, oty
s _‘\..-—g‘ i A e

e ) "
J‘.w/&t’ 4’4

A-12
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17. Logan wantad to investigale which material, A or B, is stronger. He canled out the
experiment using the sel-Up us shown in tha diagram balow.

Sat-rpi -su:upz Set4upd Setup4

.....
nnnnn

.....

He added a inad onto each set-up until the material broke. He rapestad the
WMMﬂmdeﬂummhwdmwhthem&aﬂﬂ
until & broke in the table shown below.

Set-ups Wﬁlomﬂdﬁﬂﬂhmmh
First rending Second reading Third reading
“Setup 1 6 — 7 )
Set-up 2 7 8 8
Set-up 3 1] ) 10
Set-up 4 7 6 ;]

Based on the results, which of the following statemant is definitely true?

(1)
(2)
()
{4)

Matesial B is as strong as Material A.

Logan should use all set-ups lo conduct a fair test.

Set-ups 3 and 4 allow Logan to conduct a fair tast with raliable results.
Sat-ups 1 and 4 allow Logan to conduct a fair tast with refiable results.

A-13
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18.

19.

The diagram below shows haw water changas fmm one state to another.

r R
ice ——————»{  water S
PR S
Which of the following correctly identifies P, Q. R, S?
P Q i1 R 5
[ {1) ] freezing melting | boiling sicam
(2) | condensation melting evaporation - |  sleam
[EC)) malting freezing evaporation waler vaspuur

Rani poured game amount of water of the sams temperaiure into each of the

. gontainers, F, G, H and K. She placed sach container at different locations with
different temperatures. An hour later, she checked the containers at their locations
oand observed tha water droplets, shown in the diagram balow.

Which of the following shows the lamperakre of the surmoundings which the

containers of water were placed in?
- | of susrouindings > of surroundings
] F .- H K T B
2) | G K H _F
3] K G F H
@ H F 8 X
A4
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20.

21.

MMWW&WWMWM\]MGIMMM
Substences | Meliing point () | Bolling point (<)
W -7 &84
X 37 130
Y 52 300
wnutofmamm'mmmmmamﬂmmssm
Stats of W Stuts of X Staleof Y
(1) Liquid Liquid _ Uiquid
@] tiqud Sokd Solid
3) Gaseous Soild Solid
(4} Goaseous Liquid - Liguid
Taiastappadonaphcmbaﬂumhaadeﬂonlwmn‘!nplaeedmw
balkwﬂamnmdholmter.hwmodhorwm.
dent on the '
Which of the following describes the changes in mass and volume of the bal afier Tate
had placed it in hot water?
Volume of air In the ball Mass of the ball
1) increases increases
{2) Increases remaing the same
3) remains the same increases
{4 remains the same remains the same

A-15
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2. Aina warited io compare the properties of two objecis, A and B. Aina piaced object

A info a measuring oviinder and pourad 100am? of water into it. She noticad that
the water [evel rose 10 the measurement of 150cm?, She repeated the same step
for objoct B es shown in the diagram below.

~ Based on the experiment resulls, which is 2 possible conclusion Aina can make for

_both objects A and B?

(1) Ahas more mess than B.

(2) B has mors volume them A

{3) B has avolume of more than 180cm®.

{4}  Both A and B each has a vohsme of S0cm?.

.TMmmﬂmsIﬁlﬂmm&YandZ.mdedmejamematenﬂEach
mmadmmmdmhﬁhdbadmtw

Container X Contaliner Y Contsiner 2

L1 ]

80T

Based on the experiment, which of the following statéments is true?

(1)  Walerin containers Y and Z contained hasamaammtnfheat
{2) Al containers of water contained H!esameamnt oftmtatrnom

1emperalure.

{3) wmhommxmummamummm
emperakre,

{4) wminmvmxmmemmmammmled
o room femperature,

A-1B

www.testpapersfree.com



24,

Mexpaimmwascpmwmmadakmnwﬁhmmmqnmﬁsb.?, Q,
R and S, of the same size. A star-shaped hole of § cm in height was removed from
the contea of P, as shown In the diagram below.

hole of
5cm

P Q R 8

The four sheets of materials were amanged in a etraight lins. When the forch was
switched on, only 8 bright patch of star-shaped light was seen on R.

il

P Q@ R S  Sosen

Torch

Based on the resulis of the experiment, which of the fullowing stetements is/are
true?

R does not atiow light to pass through.
There will not be ary shadow formed on the screen.

It is not possible to tell if S allows Kght to pass through.
P Is transparent as i allows mosl ight to pass through.

cOHT»

(1) AandConly

{2 BandConly
3] BadDony
#) A CandDonly

A7
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25.  Which of ihe following items do not conduct eleciridity?

(1)
2)
3)
4

A coin

B towel

[ o4 needie

D jce-cream stick

A and C only
B and D only
C and D only
A, Band Donly

26.  Study the four cirouits, R, S, T, and U, 25 shown in tha diageam below. Al
batteries and light bulbs are identical and in working condition,

Circult T Circuk U -

Jn which circuits would the bulba not light up?

{1}
2)
»
-8

8 and Uronly
Sand T only
Rand T only
Rand Uonly

A18
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7. umumaﬁuﬁummmmaawcwmx
szmmmdhlmmmmmmﬁh
working condition.

X F 4
-, —"" O e P O

ST L

Which of the following Is comrect?
Does the bulb fight up? Switches
A B c X v z
Q No No Yes QOpen Open Closed
@) | Yes No Yos | Closed | Glosed | Open
(& Yot No No Closed Open Open
4) No Yes Yes Closed Open Closed

A-19
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28.  Kim wanted o find oul the alactrics] conductivity of four materials, M1, M2, M3 and
M4, She stuck paper clips, A, B, C, D, E and F, on a cardboard. She placed the
four materiats on the cardboard and connecied them to the paper clips with wires
shown In the diagram below.

- When Kim connected the ands of the circult tester 1o the various paper clips shown in
the diagram below, she ablained the following resulis.

{ Paperdips | Did the bulb fight
connected up?
CandE “No
AandF Yes
_DandB Yes

Bagad on the results of the experiment, what can Kim observe and conchide?

{ When connected to paper clips | Conductorof | Insulator of
AandB, didthe bulblight up? | electriclty | electriclty .
_ . N M1 | M2,MI, M4
{@q . - HNo ' ] W, M2, M4 M
By Yes 1 mimM2 | M3 M4
1@ . 0 Yes -~ I Mz, M3 M4 Mt

End of Booklet A

- A2D
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Section B: 44 marks
'Read the questions carsfully and write down your aiawers in the spaces provided.

20. The diagram bolow shows the parts of o flower.

{s) Beas were noticed landing on parts, P and R. Explain how the bees help to
polinate the flower, , 1.

{b} State a difference between animal-polinated and wind-polinated flowers, 13

{6) . The sentences describe haw sexual reproduction in plarts iekas place. Wrile
rumbers in the boxes to sequence them corectly. {1

Sentence T | Step nusnber
| Pollen grains are iransierred o the stgma. : -
[The male and femmie eproducive cols Tuse, |

[Polien tibes grow down o 5tyie lowards the ovary.

{Go on'to $he next page)

B-1
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30. MGwmmdmmwwdmmYMZWawmn
an area of a forest. His abservations are shown In the diagram balow.

45] Koy
A L 2 A plant X
@plant ¥
@ plantZ
L\ rivey
diraction
of flow
of river
a yoar before _ aroarI:tnr

L Hepichadupsnnmiesdtheﬂtﬁtsdphmsx.YandZassmﬂhthadhgmbm.

frufi 3

fruit 1
(a} Mmhumeorreafnm 1,2.and 3, 10 the respective plans, X, Y aixd Z In the
M

Plant Frult

Quastion 30 continues on the next page. _
1

B-2
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Qurestion J0 continues.

(b}  Explain how a characteristic of Fruit 3 helps in its dispersal. i1

Rohan observed the frults of another plant A. He mede the following conciusion.
| ™ Frulte of plant T Dispersed by
A Spiiting

)
|

{c)  How would the seed dispersal method of.plant A.affect the thickness of the,
stems of iis young plants? (2

31. The diagram below shows four pans of a flowering plant,
{g) Compiete tha dlagram balow by drawing amows { ———> )10 show the

direction which water is transported in plant below. - M
rooks lesves
flowers stern

| 7 ' dmﬁﬁeodﬂnmonmmm , .
| o B3 |
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Question 31 continues.
31. Sadie cut fe stem o remove a set of anspart tubes from a plant as shown i the
diagram below. The set-up was then placed by the window.

Over a week, Sadie observed that nimber of leaves that are graen and healthy
remained the same. However, mmmmﬁmammm
mmldmofhdecrmed

(b) Naeme one substance hat is stored in partA. (1

(c) BmdmsaﬁesobwmmmmhbuMUMMWe _
removed? Explain your answer. [

(Go on to the next page)

y A
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32.  Joe took two similar leaves, J and K, from the same plant. Next, he removed akr trapped
in the lsaves and immediately coated the leaf K with oil,

Loaf Parts coated with ol
) —__ Notooated
K Top and boliom swtaces

Joe punched 10 leaf discs each from leal J and K and placed them in beakers, X and Y,
filled with water and substance P. Substance P increases the amount of dissolved

carbon dioxide in water. He placed each leaPs discs in a beaker and placed the beskers -

in a dark room as shown in the diagram below.

fromlesf)  fromlesf K

A few hours later, Joo mived the beakers to a brightiy-iit room.

{a} Which beaker will Jos obseve air bubbles? Explain your answer - {2
{b} Listone variable Joe must keep constant in his experiment. : i1
{Go on to the next page)
/ |
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. 33, mmhmnbdhﬁndmﬂnmdmpbmmmmamsm
recordad fhe hemst rate of four psople as shown in the table bolow.

Name Age | Numbar of hoart beats per minute
Nison 3 100
“Ben 8 980
Caine 20 B0
Ekoy 60 — 15

(a) Munah ensured that all four people had rested for half an howr before recomding
their heart rate. Why is it important for her o do 507 M

{o) mmamudmmmmwmwmaﬁwmm Imas.
Explain why. (1

Caine mmmmmmmmmmhmmmmm
before and afler the wun.

Reating heart rete_| Highest heart rate
50 170 _

1

(c) Expiain why Caine has a higher heart rate after the run. M

Quiastion 33 continues on fhe next page.
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Question 13 continues.

The graph below shows the amount of blood pumped o the lags and small intestine of
Ben while he was running ahd resting affer dinner.

Vohsra of
biood

pumped per

minute {cm?)

smal  legs
Intasting

{d) Fxphgnhwmmhgmmmlmmdmmmm

[2)

_{Bo on 1o the next page)

87 172
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34. mmmm:mammwapﬂnu&awa

animal cedl A plank cell B plont call G
{a) cahhasaamunmewmmhmwmwm m

o The cell wall of B is thickened with substance X bint C is not. Suggest wiw the
m«m-xmumsmmc. [

Min wanted to find wtﬁWDMMaﬂs.Fﬁs&sheplaﬂadﬁ
mmmnmammwdmwmm.mwmmawmwtmm
m.mmmmmawmmmmmmmmmMmmma
few minules ater, she obeerved that all organism D moved to the areas with holes in the

(c} What conclusions can Min make about organism D? 2]

{Go on to the next page)

4
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35.  Alten set up the experiment shown balow to Jest # propesty of four strips, P, Q, Rand S,
whbhmn%dmmmndadmwamwwmmmm
moved tha rods towards each cther untl the st braaks.

Strip 4 {mm)
P 68
Q &7
R )
§ 3l

Alfan recorded the distancs, d, betwaen the two rods when the sirip breaks in the lable
shown abowe.

(a) What is the property of the sirips that Alfan Is testing? 1

The pictura balow shows 2 fishing rod,

Part A

{b) Which material, P, Q,Rﬂllis EMWMMAMWMM
Explain your choics. 1

Nhnsieachermmmﬁd&nthelud made & mistake in his experiment that caused it
Ao be untalr.

{c) Assuming that the two rods used 1o test strips, P, (3, R and S, were the same,
give & reason why Alfan’s experiment may not provide fair sesutts. 13

{Go on to the next page)

. T
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36. Mr Les tasked his chidmn, Lily arxi Jack, i design & that couid help viilagers
colioct water, Tha diagram beiow shows the set-ups that and Jack dasigned.

Motage container
for the water

metial sheel

colaction lray
for we'tar

the water

siorege containes for

{a) Whmm&m“wwdedmﬁwmm;hd{sdem@mﬂ[ﬂ

Queastion 38 continucs on the next page. :
1
B-10 ‘; ,
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Question 36 continues.

() MrLeo sskd that Lity's design could help the vitagess collect more water, Do you
agree with him? Explaih why. (21

Based on Lity's sat-up, tha two chikdren uudcﬂummmbabw

Liy:  There wik be more water in the collection tray betwean 7am 1 Bam
than 2pm to Spm.

Juck:  Thers wilt be less water in the collecion tray betwaan 7em to Bam
than 2pam to 3pm.

j(c) Who do you agrea with? Explain why. il

“The graph below shows the nmmtofmnsadbylwleem Uncle Tan's family
over thrae monihs Both have the same mumber of people in a housahoid.

“Volume of water used

{m®)
] D Ml Tan's family
llr Lee's family

{9 Suggestanaummmleeshnﬁlyhadmmmnwbmhm :
Mnamuntofwwusadbemenbommuﬁlas. 1

{Go on to the next page)

1 | | 4
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37. Ruixin placed tape at holes A and Boftoy Y. Hole Awas at tha top of toy Y and hole B
was at its hotiom. Next, she placed toy Y into a tank of water shown in the diagram balow.

Wharn Ruixin removed only fhe tape at hole B, waler onlared oy Y.

(ay From Ruixin’s action, whal can be concluded about the property of water?  ~ [1]

Next, Ruixin observed thet the water did not it up loy Y completsly. Sha detided
reinove the tape at hile A too.

{b} WmﬂdhﬂppmwﬂwWIWhmmmﬂwmmmMs
removed? Explain your answer. 2]

Ouestion 37 continues on the next page.
8-12 3
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Question 37 continues.

Ruixin then used toy Y to put & shadow performance with toy Z as shown in the
diagram below. Both toys are of the same height.

streen ..

' : 1
shadow of shadow of
toyY oy Z

~Rubdn plenned harperﬁ;nmnoahydmwhgﬂmlaymnbem Jans pointed out that her
drawing Is incorrect.

e e

- :‘i 's $‘
1Y ;4 2%
LY ?

L L mar’

| Audience
{c) How should Rubxin change her drawing? Explain your answer. )
AifGoontoimmxtpage?
813 {1
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38. Jazviel wanted o design & maze gamo, To win the gams, players of the game have to
mave the hoop through the wire maze without fouching the wire. The players kee the
game once the hoop touches the wire end the buzzsr sounds.

5

(a)  In the diegram above, draw wires to connect sfl the parts to show Jazriel's game
design corracily. {1}

Jazriel decitded to add a bulb and a switch o the elecirical circuit of his maze game. The
buiby would aiso light up once the player joses the game.

(b} Wil the game still work if the bulb is fused? Explain your answer. (41
(c) Whatisan advhnwge of adding a switch? 1}
(Gooninmene::tpaue}

B-14 |
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30.  Asennoticed that the wire of an alectrical appliance in bis house was exposed as shown
in the diagram balow. l-hnnﬂurmadh&nmtbmmoexpmdw&e

(a) Based on the information above, fill in the bianks below with a property of each
om. : [1}

Tom Properiy of the em
Wire '
[ isterisl of part R

Aren sat up an experiment as shown below. He addad 3 toll of wire M In 8 beaker of
“waster in his circult: Wire M heals up when alectric currant pagses ihraugh it When he

siosad the switch, fie nolioad that tha tompersture of water Increased.

T *F%‘k_-

{®) gtahammm can make i his setup- mwhmamwerlmm
in the temperaiune of the watsr. I‘il

{Go an to the next pags)

B-15 . 2
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40, Stuxdy the crcuit shown balow. When the switch was closad, Shanng observed thetthe
iron ball moved up and down between points A and B repealedly as the bulb went it

and uniit.
X

A NnAL

L B
fron bafl
A
meial conkacts

{a) Explain how ths iron ball moved from point A to B repeatediy ]

Shanna wants to replace the lron ball with another object

(b) State twa properties of the object which will allow the bulb to stay lit when the
switch is dosed. L]

{Go on to the next page)
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41, Hida set uo the experiment as shown balow, She placed two similar empty boities
sasled with alr-tight Hids Into two containers. Both botlies are connected 1o a tuhe
conigining an ink drop. Next, she poured the sama amount of water with the temperature
of 30°C into contalner A and water with the tamperature of 80°C n container B.

Position of the ink drop before water Is added

{a) Would the ink drop move towards corntainer A or B? Explain your answer. n

Hida repeaiad the exparimant. She poured the same amount of water in both containers.
Hmw,hmm-mwmmhmmawaawdm.

Position of the Ink drop befors water is added

container A——.
watter gt 30Tk

(b}  Wuuid the Ink drop move fester ot slower compared io the previous set-up? _
Expiain your arswer. 11

B"? i 2
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. DGR

The bees that had landed on _R_ will transfer the __pollen
qmins ___w_P___whicham_stuck  on their bodies.

Anicnel- poliinated Siowers have a __smaller  musber of polien grains
but wind-poifinaded flowers have s __ 18198 nuniber of polien geains.

] T Oenienoe "Tiop mwber
mmmﬂm
TV Wl D ot eroicie iy R T
Tollon Kibes Giow Q0w 96 Syie Woass e Gvary.

t

f it

m-:nd?
!

Hhesa__ fibrous hask #0 that it can stay __ 2fioat
on___water

Yourg plent Ahas_thInner  uisen Fruits of plact A disperss by spliting
sciion, 20 R soada are__ i3porsed closer - 4, 4nq sovther and

www.testpapersfree.com



the _PBTEMt Lo Soyoung piesit A need o competa for
sunlight

OR

Young plant A hes _thicker _stem. Fruits of plant A dispersed by splitiing
action, so its seods are scatterad away from parsnt  plants. So young

plant A would not need to compete for _sunlight

31a .

3ib

Excess food / starch

3ic Sheremovedthe  f0od . CAMTYING tubes.

Tﬁsmm_w_isﬁmspatédmhm__tomake
food through fha water-carrying tubes 50 the leaves remained green and
nesithy, Butthe __ f000  mada by the ieaves is not transported 1o

A asthe _food. - camying tubes are removed. So A
decreased in thickness.
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Beaker X. Laaf Y _does not have off coated at the _DOLOM o
leaf —Jonf butboth sides of Leat K K ars coated with ofl,

mmummmmmmmmmm
oxygen

The number of __leaf  discs in the waler.

This is to ensura that the experiment is a fair tost 30 that the results of e
sxperiment are solsly due tothe __ difference in their ages and not
due 1o other vasiables.

- Munah should repeat her sxperiment fo check for _cohsistency in
readings and o sneure __reliable ooy

During exercise, Caineneeded M8 __ anergy.

His heart needs to pmp __MOMe _ blood to franeport MO cygen
and____digosted food 4o the cstis fested to olease mors
w.

Volume of blood pumped o the small intestine should be loss Wh“' running

Les3  digested food wil be _2bsorbed ko the biood siream.
and Jess digested food will be tmnsportod to the other parts of
the body. -
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Substances will be able to leave cet A __ freely .
The cell wall provides MOT®  support 1o the cell.

Orgariom D can___photosynthesize s moved  iowards
the light.

Flexibifity

Material R

ik has the least distance between the two rods.
So this proves that __R___isthemost ___flexible and can allow
patAtobendthe MO8t without breaking.

He could have changed the _ thiCkNess o¢ sach strip.

cooler surrounding air
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36b  Yew. The wire mesh in Liy's dosign hes o __greater exposed
surface &réa . This allows more water

VBPOUT  |nme Surrounding air to lose

heat 1o the cooler __ Wire mssl'_l and Condenss 1o form more
water droplets

36c  Lily. The wire mesh will be cooled at night causing the wire mesh to be

__Cooler __at 7am and Bam compared to 2pr to 3pm. Thore wikbe a
higher rate of ___Condensation

a8d | Any one of the aclivity:
Using a wmug fo contain water while brushing teeth.
Reusing water {in varlous ways)
Half flushing
wash full load of dothes
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37a Welerdoeswthavea  Gofinie shape =

The water level witt__docrease

3th
Arintoy Y will __ 89CaDPe __  from hole A, cavaing water o

cccupy the spacs previously cocupled by __ 8lr __,

370 She shouid move the posiion of oy ___ Z closer fo the soreon so
shat its shadow wittbe _SMAlGT thantwoy Y

38a

a8t Nb. When the bulb fuss, there would be a _ 98P in the circuit.
Elactricity wii notbe ableto __ Pas$  through.

www.testpapersfree.com




38a

40b

41a

A1b

He can OpeNn _and__ Cl0%8 mhecirouit_MOM __ easily,

Wire; E'“t-rw oondtm
Materia of Part R: Electrical insilator

He can Increase the number of __ PBHSMes i e circuit

When ihe switch is ciosed, the iron bar will become an __8lectromagnet

and attract the iron ball o point B.
Once atiracted to point B, thore is an __ Open Gircuit, causing the
iron_ball 1o drop.

She can replace it with an object that can ___ SONAUCt eieciricity which is
nan-magnetic

It wilt mova towards A. AT in the bottle of container B will
gain __ heat from the hotter water and __8Xpand _, pushing the ink drop
towards container A,

It wilt move siower. Plasticisa P97 conductor of heet. So It wil

slow  down _ ihe hoattransfer from the hotier watet o ihe air in
container B, causing the air to _9Xpand siower.
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